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1. Number of solutions of the equation

3n
L . If sin?x+sin?y+sintz===, then the value of
tan X + sec X =2 cos X, lying in the interval [0, 2] i e 2

IS

9
(@) 1 (b) 2 Y
(c) 3 (@) 0 (a) - 1 (b) 0
2. If0<x<mand 8" *+81°* =30 Then x is (c) 1 (d) 2
equal to
(@) n/3 (b) n/6 9. The value of cot*) YAzSinx +¥+sinx | ;o
V1-sinx —+/1+sinx
(c) 2n/3 (d) 5n/6
0<x<2mn
3. sin*1%+cos’lf+tan’1% is equal to ? X
S (@) 27— x (b) >
(@) m/2 (b) 2n/5
(c) /6 d = () X (d) on_2X
2 2
1 . . .
4. If X =5 then the value of 10. Ifa, a, a,....a, is an A.P. with common differ-
ence d, then
cos (cos? x + 2sin~Ix) is
-1 d -1 d -1 d
(@) 2/5 (b) 1/5 tan {tan [1+alazj+tan [1+azaaj+ ...... +tan [1+an1an H
(c) -1/5 (d) -2/5 is equal to
5. Thevalueoftan® 1 +tan?!2 +tan? 3is ’
n
(@) 1 (b) 0 @) 1iaa,
(c) m d) -=
6. The value of cos (cos12) — sin? (sin 12) is (b) (n=Dd
1+aa,
(@) 0 (b) m
(c) 8n-24 (d) 8n - 32 (n-1)d
© “ars,
7. If sin’1x+sin’ly=2—;, then cos x + cos?ty is
a, -4
equal to (d) a, +a,
I 2n
@ 3 (b) 7
T Y
© 5 @ 4
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‘b) The given equation is meaningful only when cosx # 0

ie, sinx=1lor—l

sinx 1
+——=2c08x
COSX COSX

Now, tanx +secx =2cosx =

\
:>sinx+1=2c052x:>sinx+1=2(1—sin2 )

= 2sin’ x +sinx—-1=0=> (1+sinx)(2sinx-1)=0
[ sinx #1]

= sinx =

O\I‘;{‘ | —

in [0, 27].

CNE]

; . 81
(a,b) Let 8]5“‘21 =y. Then, 810052x = 811—sm2x - .;
So that the given equation can be written as

y? -3y+81=0=>y=3 ory=27

. 2 ) -
____>815m x-3o0r 27:334sm X :3] or 3°

=) 1 3

= dsin? x =1 or3=>sin" x=- gr —

4 4

1

=sinx=t— or:t——3—:>x=_7£0r£

2 2 63
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. , y
L (D sin"' x = tan'l[ A ] and cos 'x = tan"(l . )
1-x2 x

12 12
sin“'l—2-=tan'1 13 |-tan|d3
13 (1 144) 3
169 | 13
=tan“l1—-
&
and cos'= =tan™!

1}
gl
wn| v
1]
g|
alw

(c). The given expression is equal to
-1 | vl L |
cos (cos x+sin™ x +sin x) = COS (—2—+sm x)
= -‘-siﬂ(sin'1 x) =—x= -
5
©) tan'1+tan"'2 +tan”! 3
=tan 147 +tan“(i)

= tan™! 1+1r+tan"'(—l)= .
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6. C
. (@ sin"lx+sin"y=—2§1£
E—cos"x+£—cos"y—-2i
=" 9 2 3
cos"x+cos"y=7c—z—n—=E
= L

.- T
8. (b) We know that, lSm ‘xigz

- - . - 3n
Therefore, sin™! x + sin”’ y+sin lz=—2——

1

T o
x=sin" y=sin 2_3

=  sin”
, ]
= x=y=z=sm5=1,

9
x100 4 100, ;100 _ -

e A

101

2
(b) Since, 1Esinx = [cos—xz— + sin—;]

cot_l{«/l—sinx +J1+sinx}

J1=sinx —+/1+sinx

X . X X, . X
cos——sin— |+| cos—+sin—
gl 2 2 2 2
=cot” {F

X o X X - ¥
cos——sin— |—| cos—+sin—
2 2 2 2

=cot™! —cc;t—JE =cot™" cot(n—-’-c-)}=n—£.
2 2)[" 2

10. (b) We have,

tan™! Ls +tan”! d +...+tan”! 2 -
1+ aa, 1+ aya4 1+a,_,

-1 @y-a -f a3—a af a—a,_
mtan | 220 || 22D, | S
1+aa, 1+a,a, 1+a,_a,
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‘= (tan’l éz —tan™! a|)+'(tan“ a; —tan™ vaz) +o
wik (tan" a, —tan™! a,,_,)

- - “1l a,—a
=tan"'g,-tan"' g, = tan”'| 2—L
1+a,q

()

1+aa,
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